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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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10.

SECTION - A

Questions numbers 1 to 10 carry 1 mark each. For each of the these questions 1 to
10 four alternative choices have been provided out of which only one is correct.
You have to select the correct choice.

Value of k for which quadratic equation 2x2—kx +k=0 has equal roots is :

(A) -4 (B) 4 (C) 8 (D) -8
The 4th term from the end of A.P. —11, —8, —5, ......... 49 is
(A) 37 (B) 40 (C) 43 (D) 58

A circle touches all the four sides of quadrilateral ABCD whose sides are AB=6 cm,
BC=7 cm, CD=4 cm. The length of side AD is

(A) 5cm (B) 7cm (C) 6.5 cm (D) 3 cm

The length of tangent drawn from a point 8 cm away from the centre of a circle of
radius 6 cm is

(A) V5 cm (B) 25 cm (C) 5cm (D) 27 cm

If two tangents inclined at an angle of 60° are drawn to circle of radius 3 cm, the length
of each tangent is equal to

(A) ? cm (B) 6 cm (C) 3cm (D) 33 em

PQ is a tangent to a circle with centre O at point P. If AOPQ is an isosceles A, then
U OQP is equal to
(A) 15° (B) 30° (C) 45° (D) 60°

A solid iron in the form of a cuboid of dimensions 49 cm X 33 cm X 24 cm is melted to
form a solid sphere. The radius of sphere is

(A) 25 cm (B) 21 cm (©) 19 cm (D) 23 cm

The area of circle that can be inscribed in a square of side 6 cm is
(A) 36w cm? (B) 18w cm? (C) 12w cm? (D) 97 cm?

The probability of getting a bad egg from a lot of 400 eggs is 0.035. The number of bad
eggs in the lot is

(A) 7 (B) 14 ©) 21 (D) 28

A ladder of 10 m length touches a wall at height of 5 m. The angle 8 made by it with
the horizontal is

(A) 90° (B) 60° (C) 45° (D) 30°
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SECTION - B

Question numbers 11 to 18 carry 2 marks each.

Find the roots of 6x2— 2 x—2=0

If 6th term of an A.P. is —10 and its 10th term is — 26, then find the 15t term of the A.P.

Prove that opposite sides of quadrilateral circumscribing a circle subtend supplementary
angles at the centre of circle.

The length of minute hand of a clock is 14 cm. Find the area swept by the minute hand
in 15 minutes.

Two cubes each of volume 64 cm? are joined end to end. Find the surface area of
resulting cuboid.

Find the value of k for which distance between (9, 2) and (3, k) is 10 units.

-2 -200
Find the ratio in which the point BT/ 75 divides the join of (=2, —2) and (2, —4).

OR

Find the coordinates of a point on x-axis which divides the line segment joining the
points (=2, —3) and (1, 6) in the ratio 1 : 2.

Two dice are thrown together. Determine the probability of two coming on the first
die and multiple of three on other die.

SECTION - C

Question numbers 19 to 28 carry 3 marks each.
Solve for x by using quadratic formula 36x%—12ax + (a2 —b?) =0
OR

The sum of a number and its reciprocal is 10 | Find the number.

3

The sum of first three terms of an A.P. is 33. If the product of the first and third term
exceeds the second term by 29, find the A.P.

If from an external point B of a circle with centre O, two tangents BC and BD are
drawn such that U DBC=120°. Prove that BO=2BC

Draw a circle of radius 6 cm. From a point 10 cm away from its centre, construct the
pair of tangents to the circle and measure their lengths.
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In Fig.1, AB and CD, the two diameters of a circle with centre O are perpendicular to
each other and OD is the diameter of the smaller circle. If OA=7 cm, find the area of
shaded region.

A cubical block of side 7 cm is surmounted by a hemisphere. What is the greatest
diameter the hemisphere can have ? Find the surface area of the solid.

OR

An ice cream cone consisting of a cone is surmounted by a hemisphere. The common
radius of hemisphere and cone is 3.5 cm and the total height of ice-cream cone is
12.5 cm. Calculate the volume of ice cream in the cone.

The angle of elevation of top of a tower from two points at a distance of 4 m and 9 m
from the base of tower and in the same straight line with it are 60° and 30° respectively.
Prove that height of tower is 6m

If A(=5,7), B(—4, —5), C(—1, —6) and D(4, 5) are vertices of quadrilateral ABCD,
find the area of quadrilateral ABCD.

The mid points of sides of a triangle are (3, 4) (4, 1) (2, 0). Find the co-ordinates of the
vertices of triangle.

OR

Find the co-ordinates of the points which divide the line segment joining A (—2, 2) and
B(2, 8) into four equal parts.

A box contains 100 tokens on which 1 to 100 are marked. One token is drawn at
random from the box. Find the probability that number on the token is

a A perfect cube b an even number
p

041/X/SA2/27/B1 4



29.

30.

31.

32.

33.

34.

SECTION -D

Question numbers 29 to 34 carry 4 marks each.

The height of a cone is 30 cm. A small cone is cut off at the top by a plane parallel to the

base. If its volume be %th volume of the cone, at what height above the base is the
section made ?
OR

A bucket made up of metal sheet is in the form of a frustum of cone of height 16 cm
with radii of its lower and upper ends as 8 cm and 20 cm respectively. Find the cost of
bucket if the cost of metal sheet used is Rs. 15 per 100 cm?.  (w=3.14)

Water in a canal 6 m wide and 1.5 m deep is flowing with a speed of 10 km/hr. How
much area will it irrigate in 30 minutes, if 8 cm of standing water is needed.

Prove that tangent at any point of circle is perpendicular to the radius through the
point of contact.

The speed of boat in still water is 15 km/hr. It can go 30 km upstream and return
downstream to the original point in 4 hours 30 minutes. Find the speed of stream.

OR

The sum of ages of father and his son is 45 years. 5 years ago, the product of their ages
was 124. Determine their present ages.

If sum of three numbers in A.P. is 21 and their product is 231. Find the numbers.

As observed from the top of light house, 100 m high above sea-level, the angle of
depression of a ship sailing directly towards it, changes from 30° to 60°. Determine the

distance travelled by the ship during the period of observation (\/5 =1.732)

-000-
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